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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the answer on your answer sheet.

1-  If you want to excel at what you love and take your skillsto the next level, you need
tomake a .....oovvvinnnnnnnns to both yourself and your craft.
1) commitment 2) passion 3) statement 4) venture

2-  Itis usually difficult to .......cccceeeen... clearly between fact and fiction in her books.
1) gloat 2) rely 3) raise 4) distinguish

3-  Some people seem to lack a moral ................... , but those who have one are
capable of making the right choice when confronted with difficult decisions.
1) aspect 2) compass 3) dilemma 4) sensation

4-  The factual error may be insignificant; but it is surprising in a book put out by a/an
.................... academic publisher.

1) complacent 2) incipient 3 ) prestigious 4) notorious
5- In asociety conditioned for instant ...........d........ , most people want quick results.
1) marrow 2) gratification 3) spontaneity 4) consternation
6- One medically-qualified official was .................. that a product could be so

beneficial and yet not have its medical benefit matched by commensurate
commercial opportunity.

1) incredulous 2) quintessential 3) appeased 4) exhilarated
7-  Some aspects of zoological gardens always ..........cc.eeue.. me, because animals are

put there expressly for the entertainment of the public.

1) deliberate 2) surmise 3) patronize 4) appall

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark the correct choice on your answer sheet.

Online learning has been around for years, but it really took off during the
COVID-19 pandemic. Many schools and universities .................... (8) transition
to online learning, and this trend is likely to continue in the future. There are many
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benefits to online learning, .................... (9) accessibility and flexibility. Students
can learn at their own pace, and from anywhere in the world. Online learning
.................. (10) affordable than traditional in-person learning, making education
more accessible to a wider range of students.

1) forced to 2) have forced

3) were forced to 4) forcing

1) including increased 2) they include increasing
3) and increase 4) they are increased

1) is also more 2) also to be more

3) which is also more 4) is also so

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the

best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

11-

12-

13-

PASSAGE 1:

From an embryologist's viewpoint there are also three main subdivisions of human
prenatal development, generally called the period of the eggyperiod of the embryo,
and period of the fetus. From a medical or prospective parent's viewpoint, human
prenatal development is subdivided into three main intervals called the first, second,
and third trimesters. The first period, the period of the egg or ovum, is generally
considered to extend from the time of fertilization until formation of the blastocyst
and implantation of the blastocyst into the uterine wall about one week afier
fertilization. The entire conceptus that is the product of conception typically is called
the egg during this period.

The conceptus at the blastocyst stage has already differentiated to give rise to tissue
destined to form the embryo proper, as well as other tissue that will form
extraembryonic layers. During the period of the egg, human embryologists identify
three stages of development: the zygote that is formed at fertilization before the egg
becomes multicellular, morula which forms after the zygote cleaves by mitosis giving
rise to a cluster of multiple cells or blastomeres, and blastocyst that forms after the
morula, is a large, fluid-filled central cavity.

According to the passage, each trimester refers to which of the following issues?
1) It comprises three-month periods 2) Consisting of one third of a year
3) During a three-week period 4) About half a year period

All of the following items can be substituted with the term “conception”
EXCEPT.............. .

1) Egg formation 2) Fertilization 3) Pregnancy 4) Pre oval stage
In which stage, the extra embryonic layers will appear?

1) Ovum 2) Morula

3) Blastocyst 4) At fertilization
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14- Development of the egg to blastomers in which stage occurs?

1) Zygote 2) Morula
3) Before fertilization 4) Blastocyst
15- Which of the following titles is more suitable for this passage?
1) Egg fertilization 2) Implantation of the fetus
3) Human prenatal development 4) Stages of animal embryology
PASSAGE 2:

On the subject of the filtration in mammalian kidneys, renal arterial blood flows to the
afferent arteriole which divides into numerous glomerular capillaries. Structurally a
network of capillaries constitutes the glomerular tuft. Then they anastomose to form the
efferent arteriole, which conducts the filtered blood away from the glomerulus. The
capillary endothelium is a single layer of very thin cells that faces the blood in the
capillary lumen. Endothelial fenestrae are transcellular passages that conduct water and
non cellular components in the blood to the second layer of the glomerular capillary wall,
the glomerular basement membrane.

Compared to other basement membranes, the glomerular basement membrane is

thicker and contains distinct glycopretein isoforms. It has three layers, created during
development by the fusion.of the basementmembranes of the endothelial and epithelial
cell layers. The three layers are.named/according to their density and relative position.
Avian kidneys contain both mammalian type nephrons with larger.corpuscles, which
are located in medullary zone and the outer reptilian type nephrons. In glomeruli of the
latter nephrons, the capillaries have few branches.

The glomerular tuft is encased by Bowman’s capsule, which is lined with a single

layer of eells; the parietal epithelium. The area between the glomerular tuft and
Bowman’s capsule is Bowman’s space. This is where the glomerular filtrate first
appears. From here, the glomerular filtrate enters the first segment of the proximal
tubule. The wall of the capillary consists of three layers: the capillary endothelium, the
basement membrane, and the visceral epithelium. The two inner structures of the
glomerular capillaries are importantsin determining the rate and selectivity of
glomerular filtration.

16- In the first paragraph, the term “endothelial fenestrae” refers to the ................ "

1) basement membrane 2) pericytes of capillaries
3) pores of endothelium 4) pores and basement membrane
17- The filtered blood, from which structure is directly conducted to outside of each
glomerulus?
1) Efferent arteriole 2) Renal arterial
3) Glomerular capillaries 4) Afferent arteriole

18- According to the passage, which definition about the reptilian type nephrons is true?
1) Larger corpuscles with more branched capillaries, in medulla.
2) Smaller corpuscles with few branched capillaries, in medulla.
3) Larger corpuscles with few branched capillaries, in cortex.
4) Smaller corpuscles with few branched capillaries, in cortex.
19- The glomerular filtrate directly enters the proximal tubule through ................. .
1) between the renal capsule and glomerular tuft
2) between capillaries and Bowman’s capsule
3) between the capillaries and renal capsule
4) outside the Bowman’s capsule
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20- According to the passage, which parts of capillaries are more important in glomerular
filtration?
1) Endothelium and basement membrane.
2) Endothelium and visceral epithelium.
3) Visceral epithelium and second layer.
4) Visceral epithelium.

PASSAGE 3:

The complex nervous tissue is made of neurons supported by connective tissue and
neuroglial cells. The function of this special tissue such as that of the brain and
spinal cord is to supply nutrients to and carry waste material away from the
neurons. Neurons are the main cells of the nervous system. They are responsible
for the transmission of nerve impulses throughout the nervous tissue. Nerve
impulses pass from one neuron to another by means of structures known as
synapses.

The neurons are composed of the following parts; the cell body or soma also
called perikaryon and neuron conceptswhich contain a nucleus, several short
processes called dendrons, which.ate formed. from many finer dendrites. These
carry nerve impulses toward the cell body: One long process called an axon is also
present. The axons leave thecell at/a point known<as the axon hillock and they
carry nerve impulses away from the perikaryon.

The impulses from the dendrons are directed across the cell body to the axon
hillock and continue down.the axon reaching their final destination very rapidly.
The speed of transmission along the axon is increased by the presence of myelin
sheath. Myelin.is a lipoprotein material made by Schwann cells surrounding the
Axon. Its whitish appearance contributes to the color off the more visible nerves
in the body and to the white matter of the CNS. The myelin sheath is interrupted
at intervals of about 1 mm by space is known as the nodes of Ranvier and it is
through these that the axon tissue receives its nutrient and oxygen supply. Non
myelinated fibers are embedded within the. Schwann cells and despite their name
are actually covered in a single layer of myelin and at the end are involved in
synapses.

21- All definitions about the complex nervous tissue is true EXCEPT that

1) it is found only in the central nervous system
2) is composed of neurons and neuroglial cells
3) it includes the visceral nerves
4) provides nutrition for neurons
22-  Which definition about dendrites according to the passage is true?
1) They supply nutrients to neurons.
2) All dendrites are connected to axons.
3) Dendrites are located inside the neurons.
4) They are thinner derivatives of dendrons.
23- Which statement about nodes of Ranvier is true?
1) Small tuberosities on nerve fibers
2) Interruptions at myelin for axon nourishment
3) Interruptions of axon for nutrient and oxygen supply
4) Interruptions of myelin and axon for nourishment of neuron
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24- Which part of a neuron is directly involved in synapses?

1) Dendrites and axons. 2) Dendrons and dendrites.

3) Total myelinated fibers. 4) Unmyelinated fibers.
25- What is the most suitable title for this passage?

1) Neuroglial cells 2) Neuron structure

3) Nervous tissue 4) Special nerves
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